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2N 2ES
Mz XS
el B EX CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
oOH&IIR2 2,200,000& = 12& 26,400
Oaste=E=22 200,000& = 12€ 2,400
OSEAMA= K XL 4,040€ « 1,968 7,951
401 AlEHIZL 2 0HY| 10,500 15,980 N5,480
01 Al&E H| 10,500 15,980 AN5,480
OFAF A NI &X 10,500,000& = 1A 10,500
FOXXNAHSI XA 113,900 109, 840 4,060
201 et 9| 113,900 109, 840 4,060
01 AR 2t2l ] 111,900 107,840 4,060
OFUXNXNHMEH2EHI (JI=ZH]) 2,400,000 2,400
O=CIXXEZ e A
25,0003 = 23oHW A& = 18A12F » 108 103,500
OFQXXPHS EBASGE
20,000 ~ 259 * 12& 6,000
03 &AL EH| 2,000 2,000 0
OF0XXEZ )M LEF L MAIS =H|
2,000,000& 2,000
XSt 23t ALK& 3,000 3,000 0
201 gBt24d| 3,000 3,000 0
03 A2 E H| 3,000 3,000 0
OXHM &L AIEHN SAIRHH| 3,000,000& 3,000
SXF2AIE2Y 22 36,756 54,642 N 17,886
201 LBt ]| 36,756 35,124 1,632
01 AP 22| H| 4,900 4,300 600
O=2Xg & foFHEIE= 150,000 = 12& 1,800
OAYNUEHALEE 700,000 = 13| 700
oAU sHEALEELE 600,000 = 13| 600
OSXIBHIAHBALLE
150,000 = 12& 1,800
02 23244 31,856 30,824 1,032
O=2Xg & HMAZ2U4=2 22,640
OFEIIe=a 1,800,000 * 12& 21,600
Oast=ER=2 80,0008 = 12&€ 960
Ostadiseg=2 40,000& = 23] 80
O =X g 2t Heky| 941 « 102l » 105 989
O=2X a2 A=K Xl 3,549% * 2,318 8,227
IR =Ly 736,452 843,687 A 107,235
PRS- R=1gN ! 736,452 843,687 A 107,235
MEFHAJDZTOEX AL 130,000 0 130,000
401 AlEHIZL 201 Y| 130,000 0 130,000




2N 2ES

A NEHY

Sl NGHL A (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 129,064 0 129,064
OMEFHARIFAUIIALY 129,064,000 129,064
03 AlZ = Th | 936 0 936
OMBEHARDFOUSTAY ALY
130,000,000& * 0.72% 936
FHERY ZZILAY 23,251 23,012 239
101 14l 19,001 17,562 1,439
04 JI2ZtHZ22HEE =+ 19,001 17,562 1,439
OFRECEH L BAIY ARY
48,280% * 70 * 5 16,898
o2 BE=E JIARES 2,103
OHZ=2E = 16,898,000& * 3.035% 513
OWILAEEE 513,000& = 6.55% 34
O=8d3 16,898,000& * 4.5% 761
ons:sdg 16,898,000& * 1.5% 254
OMTHEH 16,898,000& * 3.2% 541
206 M= Hl 4,250 4,250 0
01 =4l 4,250 4,250 0
OZMNZY 600& = 5,00004 3,000
oOZXZZx4d EH 7Y 5,000& 250 1,250
Q2 MEHelAY 553 675 122
201 Let249] 553 675 A122
02 =24l 553 675 A122
Osgu=JI®Xdl 553
OossU 1,513& = 102I& = 102 = 204 303
O==«&Hl 50,000& = 2CH = 23] 200
Oul=21e 5,000& = 50 * 2CH 50
A2A2F0=RAAY 582,648 620,000 A 37,352
401 Al HIZ 2018 582,648 620,000 A 37,352
01 A& HI 579,000 620,000 241,000
OHAZE W 2sJI7 FH 225 &XI(5M)
3,000,000& 3,000
OJtxtiel SHELZAH(SHEN 50m,8E 700
m B2 E 50m,h=2.5m) 35,000, 000& 35,000
ogdlel ot Hi+==2 & X3 AH(L=80m,h=1.
m) 20,000, 000& 20,000
OdMiel NEHHISAHELESHES  L=50m,
H=1.5m) 28,000,000& 28,000
OWAAGHE ZBLESH A I (L=40m,h=1.5)
6,000,000& 6,000
OFJ|2 &2 =2 & X3 AHL=80m,b*h=1.2%1.
2) 20,000,000& 20,000




2N 2ES
HE: XA
el RGN AL

SA-3H-S(3AH) - MRAS - BES Off &t 24
ONF22l s2ZH 3 AHL=50m,b=3.0)
7,000,000 7,000
O&lE2 XIAbtel EXHEX 20,000,000& 20,000
ORel sZEHIZZSAMOIASH 2 ZHL=150m
) 20,000,000& 20,000
OJE2 HEM=2 SZE I AH(L=150m,b=3.0m
) 20,000,000& 20,000
O=el &2+2 ==X E2H 3At
10,000, 000& 10,000
Oostelth=2 & X3 AHL=70m,bxh=0.4x0.4)
5,000, 000& 5,000
O0A1Z H2HZH (2SI 453, 8K 20H)
12,000,000& 12,000
©222] OtAZX A 2I1(L=700m,b=3.0~4.0m)
30,000,000& 30,000
OEBFE=20t2Y s EZZ(ZEL=200m,b=3.0m
NI & =& D[L=100m,h=1.5m) 40,000,000& 40,000
O2F2cl Otsotd T2 HA I A (=2 L=20m
,C 25 N Z=80m) 15,000, 000& 15,000
Ostael HH+=Z XS AH(=Z2 40m, 22 =4
5m,BHE20H) 5,000, 000& 5,000
ORel Y E2 74X SAM(LSLO01MHA
, 2 2tL=40m) 8,000, 000& 8,000
OoRelzel s2ZE B AHL=80m,b=3.0m)
10,000, 000& 10,000
O2Xel MEAHISA(EL=50m h=1.5m)
15,000, 000& 15,000
Ogelel == FHSM(SHSHL=180m,h=2.
Om) 36,000,000& 36,000
OJtA3el =242 MYE==2 ZH(L=210m,b=3.0m
) 25,000,000 25,000
Osdlel =24 Xl S AHL=150m,bxh=1.0%1.0)
34,000,000 34,000
o4& 0843 ==& Xl S AH(L=150m,bxh=0.8
*0.8) 20,000,000 20,000
OFZc S22 ZHIAL (L=50m, bxh=1.0%
1.0) 10,000, 000& 10,000
Od&lE1el OtAE NI ZAH(L=400m, b=4.0
m) 22,000,000 22,000
OJlgel sZZFSAM(+=2= L=18n,23 2
EXE L=70m,b=2.5m) 12,000,000& 12,000
O¥ell s2EZ B AHL=100m,b=3.0m)
12,000,000& 12,000
Oosd4l-2tel2t =2 A XI(L=60m,bxh=0.8+0.8)
9,000, 000& 9,000
OScl ZMSHMEFH (=22 200m)
30,000,000& 30,000
Ogelicl oSt ST IA(AMEH AT L
=100m,h=1.5m) 20,000,000& 20,000
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BN QES
A NEHY

Ee: NG AS (2 &HH)
_ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OW&E1e] sS2EEAZAN(2ICIEEZE L=150m,b
=3.0m) 20,000,000 20,000
03 AlE 201 Y| 3,648 0 3,648
OAAZDXAEMEAYE 20HH]
579,000,000 * 0.63% 3,648
QEBSUR TN U 2Y 2,463,313 2,148,773 314,540
QE I SHAA T 22| 2,463,313 2,148,773 314,540
2| EAAFH| 312,122 160,896 151,226
201 B2 Y| 312,122 160,896 151,226
01 AR 22l ] 44,966 9,316 35,650
OZ2¥ =Z&A HE L 428 2
200,000& = 33| * 100 & 6,000
O2¥ , =Xl 2248 M 2
700,000 = 43| 2,800
OZ2d 20| &EA BEaxHE
13,200 * 15& * 23| 396
O23sA 2R ZLZAIRA R20oHH 29|
110,000& * 128 1,320
OZ22 U SHAASE HH 2 HEH|I (1L /5A12¢
J|=) 27,720
OXB(MNBE/EFH)
55,000 = 1O = 1683 9,240
ool 55,000 * 221 x 1683 18,480
OZ2¢ o2 2= (Sstsaz2d, =4
22 45,0002 = 204 ~ 12& 1,080
O=2JdE, 2HE ANEH =42 5,650
O223s 8,200 * 4504 3,690
o288 49,000 * 404 1,960
02 B232%H| 267,156 151,580 115,576
OZ22HA HNHMBUS(EL2, 25542 RE
1,231,801, =41, =2 21) 38,400
[OYSPIETE=] 120,000 = 10004 ~ 12& 14,400
ORI (E2Es&A)
200,000& = 10004 ~ 12& 24,000
O=ZEYZ2Y U=2HNSH(WESIEHZE, HOIEE
) JMIe2 550,000& * 12& 6,600
OS4+U, HIEE2S 43 (LH1, 2542
S, =THE 22, 020|221, =2H2) 45,600
ONLERS(Ex=T)
200,000 * QA * 128 21,600
Oa4EZ(HIEE22)
1,000,000 * 20HA * 128 24,000
o2ssAl 2 MK &HIHE 24622
8302 * 20& * 24A|2F * 365 145,416
ORSsSAZH ABtAH IR
600,000& = 2004 * 128 14,400
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3 22| (2 &HH)
= - 4 14
N X8-S (3H) - MEAY - B %Ei HR=2
ORSSAZBR QBEL DAL HIEES, £
RSP = 1,000,000 * 12& 12,000
OF4BE HIGES W23
300,0008 = 12& 3,600
OZ2REsS 2LHEY) SRS (SKEY 2)
5,0008 * 19004 = 12€ 1,140
FANEEL =X 2 869,007 701,240 167,767
101 e1214| 141,137 126,435 14,702
04 JI2ZtHIZ2Z2NEES 141,137 126,435 14,702
OAtEE Z222t2| I8 A 1A (22213, 0
210114, A224)] 141,137
(@il 48,280 * 108 » 262 = 102 125,528
OEgz J|1a824g=2 15,609
-AAEE=2 125,528,000 * 3.035% 3,810
-AJQAEBES 3,810,000& * 6.55% 250
-=20132 125,528,000 * 4.5% 5,649
-NE88 125,528,000 * 1.5% 1,883
-AMIEE 125,528,000& * 3.2% 4,017
201 Bt 152 375 A 223
02 E2=224%H| 152 375 N 223
O8sUHIIHS &) 1,513"¥ » 100216 * 13 152
206 M = dl 35,000 33,000 2,000
01 X2 Hl 35,000 33,000 2,000
42 YEHSH AN 7L
3,000,000 = 23| 6,000
O+ £2UFAN &4H 7
5,000& * 5,000 * 13| 25,000
OOrM3 U 222 HIES 7Y
2,000,000 = 23| 4,000
401 AlEHIZ £ 0HY| 692,718 541,430 151,288
01 Al&H| 692,718 541,430 151,288
OM1AE 28 =XS =222 (222299 A
2l 474 &) 238,400
OB, =X +2(RS)HFY L Al
18,000& * 8,000 144,000
O+2(22)HERY
600 * 37,000m * 23| 44,400
OIDA=EHA & ATH 25,000,000& * 23] 50,000
OM24E B, =XES +222(2ABANA
2 1404 A) 66,000
O2& , SXNUH =2 (n=e)dA &L Al
18,0008 * 2,000= 36,000
O+2(22)HIXY
600& * 25,000m * 23] 30,000




5 - 4
HE - B (3H) - KISAY - BYS e 2
OZe 3 EANE(USEL HLYES)ELAE
Al 600,000& * 3 A * 103 18,000
OZ2d, Z2& MES(FAHAANLE AR S)FA2
2l 1,500,000& * 54K £ 81,000
OAZUIA(HIE M, )2
40,000& = 500m’ 20,000
O03d 23JI7 E= 2,000,000 = 8o A 16,000
O=2sJI7 &X (SUH3¥, o3 38)
2,500,000& * 54 12,500
O=RISASA A2Ex0 0 S wAHl L A
HE A AT &X 53,000
O%xmiet 9 wH & &AM
3,300,000 * 1090 A& 33,000
OABIE HEW ARSI (58 2HA/22S
) 4,000,000 * 5& 20,000
O3¥S FRAEx (S& 31HA, Z2& 8HL)
30,000,000& * 14 30,000
OuHMR Y SATA ZAS M4
2,000,000& =+ 8K 16,000
O=Z&d FAA =34 - L=200m, W=20m 55,188
OO0l LI (H3.0%R8) AIXH 60 * 148,000& 8,880
ONME, BE(MEZ, WEE) ATI(H0.4)
8,0002 * 4,000& 32,000
OMALI(4EE, &Yl &)
40,880,000& = 35% 14,308
Ozd &34 KA 34,000
O3ZsEA(1012)
1,500,000& = 10004 = 23] 30,000
OO0l R A (204 )
1,000,000& = 2004 = 23] 4,000
OM1aEE - 23 2 BHNEZ AHEZ M=
OF NI A I 25,500
O M & £ 250% = 51,000m = 23| 25,500
OHM2stE - TR Y BHUE=2 AHEZ M=
OF Ml A I 27,130
OAdHMAE 250% * 54,260m x 23] 27,130
HM=LECI2IAY 592,539 577,806 14,733
401 A& HIZ 201 8] 592,539 577,806 14,733
01 A& HI 588,302 573,675 14,627
OMItE T =XS M= L SOZIIAL (4
12,658M 401 3 7 ) 474,070
OLHMAZ(ZC]) 2503 * 336,000m * 35 252,000
OZFCI 2| (Seeding Xl & Z &)
1493 » 373,031m" * 33| 166,745
OM= (=2 2 Jt2=)
5473 = 31,500m = 33| 51,692




2AM: 2
i @]
e

Selr @F S cf
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMMZ2FHI(E2D1)
1493 = 8,127m" » 33| 3,633
OHM24tE B =XS M= L ZCIRAIIAMS(9
8,489.5m , 1H =) 114,232
O M &I (&HCI) 250@ = 75,000m » 33| 56,250
OZXCI 2] (Seeding Xl & I &)
149& = 86,801.5m * 33| 38,801
OM=E(22 & JH2=)
5473 * 11,688m 33| 19,181
03 A& =2 THHI 4,237 4,131 106
OHM1ate - &, =X S ME= & ORI Al
=R 474,070,000& * 0.72% 3,414
OHM24te - &, =Xs M= & T2 A
=R 114,232,000& * 0.72% 823
ANE2g2el 5,579 8,340 A2,761
201 B2l 5,579 8,340 A2,761
01 At 22l 380 240 140
OHHFE N=Y 380
o= 90,000& * 2% 180
ogs= 100,000& * 29 200
02 =24l 5,199 8,100 A 2,901
OYEXE MANSU=S 780,000& * 1CH 780
oOHFXE HIMERES
60,000& = 1CH ~ 23] 120
OIS XU (H=Hl,=2lHl)
4,299,000  1CH 4,299
S Z e 80,685 72,600 8,085
201 ¢er24l 69,885 63,600 6,285
01 At 2t 2l 66,885 60,600 6,285
Oz ¥ =X2c S g
605,000& = 10CH 6,050
OM&EXY EIH| 31,575
OM&eXdgdEs SZEH
500,000 = 1CH = 15¢ 7,500
OM&EXgE W=
605,000& = 104 » 15 9,075
OM&=AE Eai
500,000 = 2CH = 15¢ 15,000
OKHl 28808 EH 9 =25 (12/4A
2 JIE) 29,260
O (MEZ/RFU)
55,000& = 10H = 266 14,630
(@Fe1=— 55,000& = 191 = 266 14,630
02 =24l 3,000 3,000 0




2A: QS
M QFIYSET X8 L 2Y
CHe: QESHANA ST 2t Chel: ® &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ONMA&EZAH |SA2c & =24
3,000,000& = 1A 3,000
206 M = Hl 10,800 9,000 1,800
01 XHZ H| 10,800 9,000 1,800
ONMAEZ=S XA 7L 10,800
ONEE d32sE Q! 360,0008 » 30 10,800
CZAEER A2 116,830 152,851 N 36,021
401 Al HI L 204 HI 116,830 152,851 N 36,021
01 Al 116,830 152,851 £36,021
OBHMHSH 2@ AJIN BLZH L 8
PSls]l 105,580
O3=2(2d, JIIRES, AI2Z) 2201 &H
20,000,000& * 14! 20,000
OS2 (A2EE) 7Y L AEIH 25
10,000& * 2,0007H 20,000
OA2LSIE 2239 & ATy 22/ (&d, &
&= 5) 10,000& * 2,000 20,000
OJIZ2sse 28372 L AT, 22l (84,
24 5) 30,0008 * 3604 10,800
Of&sie 2939 & AlQY, 22| (8H,2
&= 5) 70,0008 = 11004 7,700
OS2 (M2, JIZESE) EH(HME & 28t
) 3,000& * 2,360M 7,080
OIAIE X2 EN)| L H=2HA
2,000& = 10,000m * 13| 20,000
oOE=z2H si=2(ed 2t2CH) 2tel 11,250
Ostg 28237¢ ¢ M, 22 (sh, 2 S
) 5,0002 * 15004 * 33| 11,250
SHESEANIISANSANES2H 262,032 267,303 N5,271
201 Yete | 61,032 257,303 3,729
01 AP 2t 2| H| 62,469 62,654 A 185
OFIHNMEHLSS 872,080 = 128 10,465
OAYUMEHALELS 385,0008 ~ 12& 4,620
oOsLdlNEEEL2 150,000& = 30 ~ 12€ 5,400
OZLINZIEAEE
130,000 = 3CH * 13 390
OR0AHH 292 150,000 * 60 = 12& 10,800
ONACHEAAI=2Z2 (T AIJIA)
160,000 = 13| 160
OFLI| 22 2= 110,000 * 12& 1,320
O3st&EAHIE 2| 500,000 * 1400 A 7,000
O=sXz2 228 425 2EH|
350,000 = 12&€ 4,200
O=EX& A8 2A2EEH Y
1,300,000 * 12& 15,600
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2N
X ZH -
L= B

el

o

o 10 10
0 0% O3
S

-

> m
o >
M
>

Job Job
bl

A
—0x
[T
RS

M0

02

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OXOHISAA HIOH & & 22 2,514
O bl 160,000& * 12CH 1,920
O2telt] 16,500& * 1204 = 33 594
02 33249l 198,563 194,649 3,914
odNIIe=2 6,000,000& * 12& 72,000
oadt+=22 1,454,000& = 12& 17,448
(OPIES = 1,200,000& * 12& 14,400
OAHAER X HI 2,280& * 6,717m 15,315
OA & &l S XYl 1,500,000& = 12& 18,000
(OFSErg=e:.]| 2,500,000& * 24 * 12& 60,000
O=2daAd A 700,000& * 23] 1,400
405 XtabF S| 1,000 1,000 0
01 AL 2B F SHI 1,000 1,000 0
oz Ho= 7 200,000& = 57| 1,000
orste X e E 3 | 164,068 156, 137 7,931
101 2124 4| 66,743 47,556 19,187
04 J|I2ZtHZ2E2XNEE S 66,743 47,556 19,187
O S#FFY Y
48,2803 * 8% « 150¢ 57,936
o442 JIAaR2E=2 7,207
OALEES 57,936,000& * 3.035% 1,759
AIABEZ 1,759,000& * 6.55% 116
Oo=89H3 57,936,000& * 4.5% 2,608
Ons:esd 57,936,000& * 1.5% 870
OMESE 57,936,000 * 3.2% 1,854
O ZF&E FIth| 200,000& = 8H = 13 1,600
201 Bt A | 93,485 104,741 AN 11,256
01 AP 22l Yl 60,270 74,421 N 14,151
OHIIZE =& 2EI|AF HI=Hl 90,0008 = 3H 270
OMEHI SHEHUH E2E ME
1,000& = 5,0000H 5,000
OEZL-HAEAEH LXE
1,000,000 * 553 55,000
02 53294l 33,215 30,320 2,895
OFAXE HAHsU= 800,000& = 2CH 1,600
OMEZHISHEHIZ MA=102
600,000& * 1CH 600
OFAXY S#FMERLE 2
80,000& = 200 * 23] 320
OFAXE RXH| 10,798,000& = 204 21,596
OMEZEHIS+HXE KA HI
4,299,000& * 1CH 4,299
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K- B8 S2(3H) - HSAY - B2 o A o SSa H RS2
oMY DIl SYED| ZAl CCTVEHE 4,800
OCHY 2= 100,000& = 414 = 128 4,800
206 M =8l 3,840 3,840 0
01 X2 bl 3,840 3,840 0
Ol HASES 3,840
ODeH 400& * 22,0004 800
OOt X2 500& = 5,0000H 2,500
oYX = 4,000 * 504 200
of 4,000& * 304 120
oMy el 11,000 = 204 220
Arctate| b BAANEE2Y 60,451 25,200 35,251
201 LEt2AY| 28,831 24,700 4,131
01 AFR2t2l bl 7,780 3,780 4,000
oM RRI] POFHEAR
150,000 » 204 = 12& 3,600
Oatcte| )t D22 dUs
27,500 » 60 » 12& 1,980
(OFENS=UESEI R=FS e Eep ey 600,000& = 13| 600
O&Oel =Xt f EXE &
400,000& = 24 800
OLI& OHLHS HAIE AX 400,000& = 204 800
02 53294l 21,051 20,920 131
oMY IS 1,500,000& = 12& 18,000
ONMCHZZ| N Mot TAIES
150,000& = 12& 1,800
OAtEt 22| A2 KR XY 1,222@ = 1,023m 1,251
401 Al HI YL 2 0HHI 25,020 0 25,020
01 A& HI 25,020 0 25,020
OF A 2HEHAE X 1,020,000& * 14 1,020
OLIAA THEHXI 3 At 24,000,000 * 14 24,000
405 XHoHF SHI 6,600 500 6,100
01 MMM =EFFHS 6,600 500 6,100
OQIJ A AIRIIZ? F2¢ 6,600
Oootlas ox 120,000& = 304 3,600
Ol MAaZHol=2 1,200,000& = 24 2,400
OHZOLHE HAICH 300,000& = 24 600
HHSAAY (QLES) 2,934,556 2,820,892 113,664
29| 2,731,700 2,600,935 130,765
A2 AY| 2,731,700 2,600,935 130,765
101 @121 2,658,380 2,537,395 120,985
01 24 1,763,253 1,726,075 37,178




2N 2SS
M HH2IZH(2ES)
chel: ol 2y (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
o== 1,193,634
O52(3053) 4,238,100& * 18 ~ 123 50,858
o6z (2715 8) 3,608,700 » 8H » 12& 346,436
O72(1853) 2,891,400& * 13%H » 12& 451,059
08= (85 8) 1,978,500& » 9% » 12& 213,678
O9= (58 8) 1,566,700 » 7H » 128 131,603
OFJGES=, 133,241
onzsg
1,193,634,000& * 1/12& * 50% * 23l 99,470
(OFSEms =) P = 26,160
-5 04 108012t 50,0003 * 8H » 12& 4,800
-10@ 0l & 15 01 2t
60,0003 = 4H » 123 2,880
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-IExg 7,200
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-2 lhits 5,760
- 254@ 0l & 130,000& * 29 = 12& 3,120
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60,000& = 2% = 12& 1,440
- 5@ 0l &~10 0l 8¢
50,000& = 2% = 12& 1,200
SR 9,840
QIAAREY 30,0008 x 2% » 128 720
s22+E 70,0003 = 8H » 123 6,720
M EXNZRY
70,0003 = 2% * 12& 1,680
SN2 (AMS S XA )RS
30,000& = 2% * 12& 720
OFUZ A 14,040
OgEera 130,000& * 98 « 123 14,040
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301 et a = 97,500 98,950 A 1,450
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OJles 200,000 = 269 = 12& 62,400
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OUSHEAFE MBI 4 3,000,000& 3,000
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0B SHE-0/& - -EtEes843 227,120 220,160 6,960
o8& s+Y 209,920
oJl=a3 200,000 * 64H * 12& 153,600
O&d3
153,600,000& = 1/12 = 100% * 23l 25,600
Ozo&dN+Y
20,000 * 64YH * 23 » 128 30,720
(O PSEg=y 25,000 *» 3449 * 23] 17,200
09 HAIAHIBAZ 3,000 5,100 A2,100
OLUZTHAMF=ZR AHIEA 3,000,000& 3,000
11 JIEtE A2 3,420 3,420 0
OXNEseASAA &SH| 3,420,000& 3,420
405 XtabF SHI 350 0 350
01 Mt =S F SHI 350 0 350
OO0ISIHEIX (I A 350,000& = 1H 350
HALEZEON A 26,095 31,186 N5,091
201 Bt A | 26,095 20, 186 5,909
01 At 22l Yl 13,440 10,440 3,000
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SN BUMNES
Ha: zolaol M g
Sl OISR OIS X4 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ORAUTXBH 9= 3,000
O=8 XX 4H 150,000& * 12& 1,800
OZz)dnA (M) 100,000& * 123 1,200
OFLUXNXNEZ Y LUHARE SRz
830,000&  12& 9,960
OFUXNXNEZZ O Leind FI| AIES
40,000& = 12& 480
02 2324l 12,655 9,746 2,909
O A& & Hls X bl 2,000,000& 2,000
OAESRANES2(25H0l0})
4,0403 = 865M 3,495
OF AL &HEHH| 2,823,000& 2,823
O&stx FaA 300,000& = 13l 300
OAATEFH =2 600,000& * 13 600
OFUNXNEZ Y AUHAMRY &S
6,160& * 40Kw » 128 2,957
OFLUXNXNEZ ] LUHAIFE F=J| 22l
40,000& = 123 480
FURNXNEEHEZE 53,000 47,940 5,060
201 Yer2 | 53,000 47,000 6.000
01 At 22l 51,000 45,000 6,000
OFRURNXHEHSZ (I =2 HI) 1,800,000& 1,800
O XXAE3 o EHH&dxG
20,000 = 25 = 12& 6,000
OFLUXNXNEZZ IS A==
20,000& = 18AIZt = 120Hm &l = 10& 43,200
03 & Ar2 Gl 2,000 2,000 0
OFCUXXNE=Z0dY £H3 & dAZ =HI
2,000,000& 2,000
BHSYAYH (BZMES) 844,755 851,590 6,835
ol 2 gl 762,695 766,320 AN 3,625
ol 2AH| 762,695 740,100 22,595
101 @14 Hl 737,315 740,100 A2,785
01 2= 737,315 740,100 N2,785
o=3= 530,541
OoJlzs 489,730
- LA 489,730
- 55 4,238,100& * 18 » 123 50,858
- 62 3,608,700& » 3H » 12& 129,914
= 2,891,400 » 4% » 1228 138,788
- 82 1,978,500& » 4% » 128 94,968
- 9= 1,566,700% * 4¥ * 123 75,202
Oa0= 40,811
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PN SFMES
M HER2IAU(BEMNES)
chel: ol 2y (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Fo=4g
489,730,000 * 1/12 * 50% * 23l 40,811
o=¢ 115,292
omelgRsy
4,238,100 * 9% * 1H » 123 4,578
OxH2Zfs+E
9,332& x 15H = 30AI2t = 128 50,393
Os0tER+g
1,978,500& * 40% = 2% * 128 18,994
OFusy 41,327
“ESE 7,200
- B X 40,0003 = 108 = 123 4,800
E =l 20,000& = 1098 = 12& 2,400
-AHHSHEEE 5,207
- SeHM 433,880 * 3Y x 43| 5,207
S R=E =V = 10,080
254 01 &f 130,000& = 2H » 123 3,120
204 0] &f~254 0] 2t
110,000& 3 = 128 3,960
- 501 & ~104 O] Bt
50,000& = 5% = 128 3,000
_EAQDAC 18,840
S2R+E 70,000& = 16H » 123 13,440
QIAARSE 30,0003 x 5 » 128 1,800
NS RN
70,000& = 3% = 12& 2,520
CSANRLG (MBS NS
30,000& = 3% = 12& 1,080
O UG A 130,000& » 16%H » 128 24,960
OYE S Ottl
489,730,000 * 1/12 * 60% * 23] 48,973
O I &l
489,730,000 * 86% * 1/12 = 1/30 = 15¢ 17,549
204 MR F | 25,380 0 25,380
02 252 2l 25,380 0 25,380
055 250,000& = 1H » 123 3,000
o6= 155,000& = 3H » 123 5,580
o772 140,000& * 4H » 123 6,720
©8= 0l ot 105,000& * 8% = 12& 10,080
JlE3l 82,060 85,270 A 3,210
JlE2&l 82,060 85,270 A 3,210
201 L2l 38,720 41,930 A 3,210
01 At 22l 19,564 16,408 3,156
OJl=g =gl 11,500, 000& 11,500
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SN BYMNAS
M HER2IAU(BEMNES)
chelr D123l
SA - ZE-B(EA) - NRAY - B S il
O=ZHI(J1E&HI) 8,064,000& 8,064
02 2324l 19,156 25,522
oORER=S 5,737
OBt 2703 » 8,000 2,160
OS2l 1,930& * 1,600& 3,088
otts= 1,630& » 3003 489
(OFSPIR=E=; 11,571
OoJlezg 6,160& = 120kw » 128 8,871
(@Fni¥=1 753 * 3,000kw » 12& 2,700
(OFSEcIR ==, 15,000& = 204 ~ 123 360
OANolIETV=AZ 12,0003 = 200 » 12& 288
Q&ot=ER= 100,000& * 128 1,200
202 Odl 28,800 28,800
01 =L 28,800 28,800
OJIEZ 28,800,000& 28,800
203 YR =&t 12,740 12,740
01 JI22E YR =8H 7,900 7,900
OJ|E % (el 18et0l 7,900,000 7,900
02 33t H 2= 640 640
OJEH (X 2100 NHXI) 40,0003 = 169 640
04 FN2ELSZ=TH| 4,200 4,200
OJIEAH(H 302 0lat) 350,000& = 123 4,200
204 M= F | 1,800 1,800
01 MR 1,800 1,800
OJIEH (5= II&E 150,000& * 12& 1,800
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2 22H
X0
T

ool OIS0 NS XY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OB M= F X H 1,000
O4+SHEN L AEHLE
1,000,000 = 13l 1,000
O&SIEHA 300,000& = 13l 300
OAHFZ =2 600,000& * 13 600
(OF=PNEE=J=4 150,000& * 62l 900
FUXNXLE 2 20,780 22,240 A 1,460
201 Let24d] 20,780 22,240 A 1,460
01 At 2teltl 18,300 19,760 A 1,460
OFBINXMEHSS(IIZZH) 1,500,000 1,500
OFUNXANS &HA+G
20,0003 = 259 « 12& 6,000
OFQUXXZZ O 2AxE
20,0003 = 18AI2t » 3HW & « 103 10,800
02 =224l 480 480 0
OFQTXEH F=I SX2c
40,000 * 1CH = 128 480
03 A2 Z I 2,000 2,000 0
OFQUXNXNEZZ0Y LHES L MAIS =]
2,000,000& 2,000
HYL2IZH (L2ES) 556,917 434,900 122,017
ol 2 Il 499,191 378,785 120,406
ol 2AY| 499,191 365,105 134,086
101 @124l 484,071 365,105 118,966
01 2= 484,071 365,105 118,966
oJles 291,946
OoJles 291,946
-2 EHA 291,946
- 558 4,238,100& » 198 » 128 50,858
- 62 3,608,700& = 2H  12&8 86,609
= 2,891,400& * 2% » 123 69,394
- 82 1,978,500& » 2% » 12&8 47,484
- 9= 1,566,700 * 2% * 123 37,601
o4 138,428
Oaoag 32,009
Y=
291,946,000& * 1/12 = 50% » 23| 24,329
-E2F=ght=E 7,680
254 01 &f 130,000& = 3H = 12& 4,680
540l &~104 0] &
50,000& = 5% » 12& 3,000
OMMAEE+EY 18,244




SN 228E
HE: HYRIPH (L2 S)
chel: ol gyl CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
-IERE 5,040
- B &t 40,000 * 7% = 128 3,360
==l 20,000& = 798 » 12& 1,680
-AHEEHEEE 3,707
- DSsty 463,3008 * 29 * 43| 3,707
LN
1,978,500 * 40% = 1% = 12& 9,497
OExZ2f+E 10,440
-ExgEaY 10,440
Q=Y 30,0008 * 2% « 12& 720
s2RxE 70,0003 = 8H » 12& 6,720
NEEREE RS
70,0003 * 2% * 12& 1,680
ExMNPE(MI SR RA) IS
30,0008 * 2% * 122 720
SIS RPEAY-8T IS8 XY AY
& 0Iat 20,0003 = 1H » 128 240
INEHRELY-NASHGZOIST - Il
Ab) 30,000& = 1H « 123 360
Oxzzf=+¢ 26,877
-2 B 9,332& * 8Y * 30AI2t = 128 26,877
Ozelge=+¢ 4,238,100& = 198 » 12& 50,858
OF M A 130,000& * 9H « 123 14,040
OZF & F Il
291,946,000 * 1/12 * 60% * 23] 29,195
SR
291,946,000 = 86% * 1/12 = 1/30 » 152 10,462
204 MR F | 15,120 0 15,120
02 g2l 15,120 0 15,120
5= 250,000& = 19¥ « 12& 3,000
o6= 155,000& * 29 = 12& 3,720
Q7= 140,000& = 2H » 12& 3,360
©8=~92 105,000& * 494 = 12& 5,040
=l 57,726 56,115 1,611
JlE2&l 57,726 56,115 1,611
201 L2 | 23,126 27,556 ~4,429
01 At 22l 12,540 11,278 1,262
OJl2gf=a8A 7,500,000 7,500
o=gd(JI&&dl) 5,040,000& 5,040
02 =224l 10,586 16,277 25,691
ORERS 2,504
Ooget 2703 » 4,500 1,215
=Pl 1,930& *» 600 1,158
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2A 22
HE: HYRIPH (L2 S)
Sel: ol EEREED
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
@)=1=N= 1,630& * 80 131
OXIIRS 7,242
OJIges 6,160 = 3tkw » 122 2,292
o=z 753 » 5,500kw * 12 4,950
OACIETVAZ 10,000& = 2CH = 12& 240
Od3sR= 20,0003 = 104 ~ 123 240
oO4dot=ER= 30,000& * 123 360
202 04l 18,000 16,800 1,200
01 SLHOYI 18,000 16,800 1,200
O©JIZEZH 18,000,000 18,000
203 YR =2t 10,000 9,960 40
01 J1Z2Z YR8 6,600 6,600 0
OJ| & (ol +30H012H) 6,600,000& 6,600
02 A& H 2 =& 400 360 40
OJ|EH(H R 100E NtXI) 40,000& = 10¥ 400
04 EA2IYRFLH 3,000 3,000 0
OJIEAU(H A 152 0l5t) 250,000& = 123 3,000
204 AR HH| 1,800 1,800 0
01 ¥R A 1,800 1,800 0
OJFEH (51 2F) 150,000& * 123 1,800
405 TtobFH S| 4,800 0 4,800
01 AL ESFH SH 4,800 0 4,800
OZ M AIEDI 1,000,000& = 1CH4 1,000
OAEE 2AXH 2,900
ozelits 500,000& * 1K 500
OCaRRE 300,000& =« 8K 2,400
O© At2| TH 300,000& * 1K 300
WA 600,000& = 14 600
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